$=0 5= 600 Bk, 6% AT B (3R MTE )
o|=- =R B
9.812 9.105 4.252 0.717 3.33
X 6 X 6 X 8 X 6 X 9
1.398 7.683 1.426 6.731 4.967
X 2 X 5 X 9 X 3 X 7
4.759 1.421 7.903 3.598 4117
X 6 X 2 X 7 X 6 X 3
2.123 1.367 4.577 1.657 2.794
X 9 X 4 X 5 X 5 X 4
6.77 9.436 3.747 1.977 3.171
X 4 X 2 X 4 X 4 X 8
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e =5 600 by, 5% NE R TEWEIRSEIEE <L

0| 5: 2 A
9.812 9.105 4,252 0.717 3.33
X 6 X 6 X 8 X 6 X 9
58.872 54.63 34.016 4,302 29.97

1.398 7.683 1.426 6.731 4.967

X 2 X 5 X 9 X 3 X 7

2.796 38.415 12.834 20.193 34.769

4.759 1.421 7.903 3.598 4117

X 6 X 2 X 7 X 6 X 3
28.554 2.842 55.321 21.588 12.351

2.123 1.367 4.577 1.657 2.794

X 9 X 4 X 5 X 5 X 4

19.107 5.468 22.885 8.285 11.176

6.77 9.436 3.747 1.977 3.171

X 4 X 2 X 4 X 4 X 8

27.08 18.872 14.988 7.908 25.368
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